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Look at several problems.
1. Identify the key words used within each of the problems.
2. Describe how teaching students to identify these key words may be problematic.
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1. What are the key word(s)?




2. Why would teaching these key words be problematic?
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                                                                                                                    Smarter Balanced third-grade release item (2013)
1. What are the key word(s)?




2. Why would teaching these key words be problematic?
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                                                                                                                               STAAR third-grade release item (2014)
1. What are the key word(s)?




2. Why would teaching these key words be problematic?




[image: ]








[bookmark: _GoBack]







                                                                                                                      STAAR fifth-grade release item (2014)
1. What are the key word(s)?




2. Why would teaching these key words be problematic?
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Lisa had 3 pizzas. Each pizza was cut into 8 pieces. Lisa ate 2 pieces. How many pieces were left?

Write an equation to show how many pieces were left.
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Ramon has a total of 815 sheep in two fields. He has 348 sheep in one of the
fields. How many sheep does Ramdn have in the other field?

F 533
G 577
H 377
J 467
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Frances used small, medium, and large cups to serve punch.

e She used 243 medium cups.
e She used 79 more medium cups than large cups.
e She used 56 more small cups than large cups.

How many small cups did Frances use to serve punch?

F 220
G 108
H 266
]
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Rosa has L shells in her pail.

She finds more shells in the sand.

Now she has 6 shells.

How many shells did Rosa find in the sand?
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